REPUBLIC OF THE PHILIPPINES Department of Health

NATIONAL CENTER FOR MENTAL HEALTH



BIDS AND AWARDS COMMITTEE

Telephone No. 8531-9001 loc. 239

Telefax No. 8531-8318

E-mail: bac@ncmh.gov.ph

Website: www.ncmh.gov.ph

RFQ NO.: SVP2025-02-003 Date: February 14, 2025

REQUEST FOR QUOTATION

Company/Business Name:	
Address:	
Business/Mayor's Permit No.:	
ΓΙΝ:	
PhilGEPS Registration Number:	

The National Center for Mental Health (NCMH), through its Bids and Awards Committee (BAC), intends to procure the Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot) through Section 53.9 (Negotiated Procurement – Small Value Procurement) of the 2016 Revised Implementing Rules and Regulations under Republic Act No. 9184.

Please quote your lowest price on the items herewith attached, subject to the General Conditions, and stating the shortest time of delivery. Submit your <u>sealed quotation</u> using this form duly signed by your authorized representative together with the documentary requirements **not later than** *February 18*, 2025, 4:00 PM. Kindly transact / address directly at the BAC Secretariat Office. For inquiries, you may call 8531-9001 local 239 or 1823.



General Conditions:

- 1. Bid offer must meet the minimum technical specifications.
- Delivery period shall be within a maximum of <u>Seven (7) calendar days</u> upon receipt of approved Notice to Deliver (NTD).
- 3. Price validity and payment terms shall be for a minimum period of thirty (30) calendar days.
- 4. Documentary requirements current and valid:
 - a. Mayor's / Business Permit (Note: A recently expired Mayor's/Business permit together with the Official Receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit, shall be accepted. Section 24.1 of RA 9184 and its revised 2016 IRR.)

- b. PhilGEPS Registration Number or PhilGEPS Certificate
- c. Annual Income Tax / Business Tax Return (with corresponding eFPS Filing Reference Number and successful payment page or its equivalent proof of payment, if applicable)
- d. Notarized Omnibus Sworn Statement

(<u>For Corporation</u> – Attached **Corporate Secretary Certificate**) (<u>For Sole Proprietorship</u> – Attached **Special Power of Attorney**)

- 5. Failure to comply with the stated general conditions constitutes a disqualification.
- 6. The NATIONAL CENTER FOR MENTAL HEALTH reserves the right to reject any or all bids, to waive any defect, and accept such bids advantageous to the government, and that it reserves the right to rescind the contract and debar the dealer from entering in future biddings of the center.

Notes:

- All documents must be **Certified True Copy (CTC)**. Bidder's certification is acceptable.
- On documents (licenses, certificates and/or registrations) for renewal, bidders are required to attach Official Receipt (OR) as proof of payment.
- Documentary requirements must be arranged in the above sequence/order & placed in a folder. This form (RFQ) must be in a sealed envelope. Both folder (documentary requirements) and envelope (price quotation) should be placed on an envelope of any color with proper label as shown below. Bidder may opt to use their own company letterhead using the format below.
- The sealed envelope must be submitted to the Procurement Section/BAC Office of the National Center for Mental Health (NCMH) on or before February 18, 2025, or in case the deadline for each activity falls on a non-working day (i.e. Saturday and Sunday), legal holiday, or special non-working holiday, or other nonworking days duly declared by the President, Governor, Mayor or other Government Official authorized to make such declaration, the deadline shall be the next working day. (Sec. 38.2 of RA 9184 and its 2016 revised IRR)
- <u>SAMPLE</u> must be provided within five (5) calendar days upon request of the End-User.

MARKING / LABEL OF PRICE QUOTATION

1. Sealed Price Quotation Envelope:

Sealed Fince Quoi	auon Envelope.
	Request for Quotation
Supply and	Delivery of Activity Therapy Section (ATS) Supplies CY 2025
	(Sub-Lot)
	Item/s bid:
	1
	2.
	Name of Company / Bidder: Tel. no.: Fax no.:

2. Documentary Requirements Folder:

Request for Quotation Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot) Item/s bid: 1. _______ 2. Name of Company / Bidder: Tel. no.: Fax no.:

3. Mother Envelope:

Request for Quotation Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot)

Name of Company / Bidder: Tel. no.: Fax no.:

DO NOT OPEN ON OR BEFORE: (indicate closing date PhilGEPS)

After having carefully read and accepted the General Conditions, I/we submit our quotation/s for the item/s below:

INSTRUCTION:

- 1. Review each item in the list provided below.
- 2. **Check the "Yes"** box if you comply with the NCMH specification for that item. If you do not comply, **check the "No"** box.
- 3. In the "Offer/Remarks" section, input the brand and any other specifications of your offered item.
- 4. If the item is not applicable or not available, indicate "N/A" in the "Offer/Remarks" section.

Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot)						
Item No.		Item Description	Yes	No	REMARKS / OFFER/ BRAND	
		: PHYSICAL REHABILITATION SUPPLIES AND				
		VT (Item No. 1-9)				
	65 cm diame	duty; professional and commercial use quality; blue; eter; textured dome with notches and quadrants; non-				
	skid base; 1 yr warranty; branded.					
	Feature/	Heavy duty; professional and commercial use quality;				
1	material	blue; textured dome with notches and quadrants; non-				
	made	skid base				
	Size	65 cm diameter				
	Warranty	1 yr.				

	varying resis	nd: at least 0,25" thick; min. 105 cm loop length; stance from 3kg-36kg; various width of 7mm, 13mm, m, 45mm, 64mm; yellow, red, black, violet, green, and			
2	Feature/ material made/ size	least 0,25" thick; min. 105 cm loop length; varying resistance from 3kg-36kg; various width of 7mm, 13mm, 21mm, 32mm, 45mm, 64mm			
	Color	yellow, red, black, violet, green and blue			
3	surge Farad duration 0.1 10 sec varia Feature/ material made/ size	220V AC, 50Hz; 1 pulse/sec variable; with Faradic, lic, Galvanic, and Intermittent Galvanic mode; pulse 1-1000 msec; variable surge time 1-10 secs; rest time 1-ble; compact; branded 220V AC, 50Hz; 1 pulse/sec variable; with Faradic, surge Faradic, Galvanic, and Intermittent Galvanic mode; pulse duration 0.1-1000 msec; variable surge time 1-10 secs; rest time 1-10 sec variable; compact			
	Color	black			
4	Feature/ material made/ size	Aluminum pads, w/ 1 meter wire, heavy duty jack Aluminum, rubber coated, 1 meter wire, heavy duty jack			
5	Hex dumbbe	ell set with rack: 1kg, 2kg, and 3kg fixed weight per set; ated; 3-tier heavy duty rack; made of hard plastic or ip base Neoprene coated, 3 tier heavy duty rack, made of hard plastic or steel, non-slip base			
	Weight	1kg, 2kg, and 3kg fixed weight per set			
	Hydrocollator Pack: Cervical size, 60 cm length; silica gel or bentonite clay filling; White				
6	Feature/ material made/ size	silica gel or bentonite clay filling			
	Size	60 cm length		_	
	Color	White			
	Hydrocollate filling; Whit	or Pack: Half-size, 5"x12"; silica gel or bentonite clay e			
7	Feature/ material made/ size	silica gel or bentonite clay filling			
	Size	5"x12"			
	Color	White			
		form and Riser: 65-70cm length; 25-30cm width; eight 10-14 cm; heavy duty; black and silver color			
8	Size	65-70cm length; 25-30cm width, and height 10-14 cm			
0	Color	Black and Silver			
	Quality	heavy duty			

		zle mat, 100cm x 100cm x 1"; heavy duty; dual color e); interlocking	
9	Size	100cm x 100cm x 1"	
9	Quality	Hard rubber, Heavy duty, interlocking	
	Color	Dual color Pink and blue	
		: RECREATIONAL, SPORTS, AND WELLNESS (Item No. 10-22)	
	Jumping ro	pe, PVC rope, Length: 287cm	
10	Length	287 cm	
	Feature	PVC rope	
	Twister, ap	prox 24.5cm diameter, any color	
11	Size	approx 24.5cm diameter	
	Color	Any color	
	Yoga mat, 6	oft x 2 ft, any color	
12	Length	6ft x 2ft	
	Color	Any color	
	Jigsaw Puzz	zles, 120pcs, any design	
13	Quantity	120pcs	
13	Other	any design	
	Feature		
	Jigsaw Puzz	zles, 260 pcs, any design	
14	Quantity	260 pcs	
	Other	any design	
	Feature		
		zles, 500pcs, any design	
15	Quantity	500pcs	
	Other Feature	any design	
		zles, 1000pcs, any design	
	Quantity	1000pcs	
16	Other	•	
	Feature	any design	
		and Volleyball Ball storage rack, mobile frame,	
15	stainless ste	el, 112cm x 140cm x 35cm, with wheels	
17	Feature	Mobile frame, stainless steel, with wheels	
	Size	112cm x 140cm x 35cm	
	26cmx21cm	zle, (dementia puzzles for elderly) dimensions: 1x4cm, material-cardboard, #of puzzle pieces 100 each	
	37.5 cm x 30	roximately 3.5"in width, puzzle size when complete	
18	Size	26cmx21cmx4cm	
		number of pieces 100 each piece, size of piece 3.5",	
	Feature	Puzzle size when complete 37.5 x 30 cm	
	Material	card-board	
	Working Bo	oard (Busy Board for Alzheimer's Patients) 6 gadgets	
		sasa latch, light switch, barrel bolt; board color white	
19	Color	White	
	Feature	6 gadgets chain lock, sasa latch, light switch, barrel bolt; board color white	

	flower color	ok for Seniors, sets of 4 Books (color by numbers, ing, animals, flowers, food, objects) Paper bound, page	
20	Feature	Sets of 4 books, (color by numbers, flower coloring, animals, flowers, food, objects) Paper bound, 40	
	Size	pages/book page size 8x11"	-
21		ket, set 30 in (76cm) cricket stumps 33in.(84cm) cricket	
21		palls, carry bags	
	-	, 36' Original mallets filled with black cushion grips 368; Pro 16 natch balls, weight 1lb, 3 5/8 diameter.	
22	Size	36' Original mallets filled with black cushion grips fitted, 3 lbs*368; Pro 16 natch balls, 3 5/8 diameter.	
	Weight	11b.	-
	SUB-LOT 3:	OCCUPATIONAL THERAPY FOR MENTAL FION SUPPLIES (Item No. 23-29)	
		ush (Therapressure Wilbarger Therapy Sensory	
23		assorted colors	
	Color	Assorted color	
		nbow clip beads toy (7 colors: Red, Orange, Yellow, , Indigo, Violet) 9x9x2 inches	
24	Color	7 colors: Red, Orange, Yellow, Green, Blue, Indigo, Violet	
	Dimension	9x9x2 inches	
	_	tern blocks jigsaw puzzle tangram (geometric shapes) vith 24 pcs cards,9.6"x 8.4"	
25	Feature	(geometric shapes) 155 pcs/set with 24 pcs cards,9.6"x 8.4"	
	Dimension	9.6"x 8.4"	
	Pop tubes (F 1.2'x7.7'-25.	Fidget tube pipes) 6 pcs/per box, Any assorted colors, 5'	
26	Color	Any assorted color	
	Dimension	1.2'x7.7'-25.5'	
	Features	6 pcs/per box	
	Push Pop it l 65g, 4.7'x4.7	Bubble Fidget toy, Any assorted colors, Circular shape,	
27	Color	Any assorted color	
	Weight	65g	
		d Playset: Over 10 tools and molds, 4.5 pounds kinetic e surprise mold, 2 cube stampers, 5 tools, 1 clear knife,	
		squisher plate, 1 transformable sandbox, 1 backdrop,	
		n sheet, 3 in x 12 in x 11 in	
28	Feature	Over 10 tools and molds, 4.5 pounds kinetic sand, 1 dome surprise mold, 2 cube stampers, 5 tools, 1 clear knife, 1 squisher, 1 squisher plate, 1 transformable sandbox, 1 backdrop, 1 instruction sheet	
	Weight	4.5 pounds	-
	Dimension	3 in x 12 in x 11 in	

	-	vset: Foldable, Three Sections (counter, cooking, and 5 accessory pieces, 18cmX8cmX9cm		
29	Size	18cmX8cmX9cm		
	Feature	Foldable, Three Sections (counter, cooking, and sink area), 15 accessory pieces		
	SUB-LOT 4:	NCMH BAND SUPPLIES (Item No. 30-51)		
	Clarinet Ree	ds, Bb Clarinet		
30	Feature/ material made	made from Cane tubes		
	Size	size #3		
		ds, Bb Clarinet		
31	Feature/ material made	made from Cane tubes		
	Size	size #2 1/2		
		ds, Bb Clarinet		
32	Feature/ material made	made from Cane tubes		
	Size	size #3 1/2		
	Alto Saxoph	one Reeds, Eb Alto Sax		
33	Feature/ material made	made from Cane tubes		
	Size	size #2 1/2		
	Soprano Sax	ophone Reeds, Bb soprano sax		
34	Feature/ material made	made from Cane tubes		
	Size	size #2 1/2		
		hone Reeds, size		
35	Feature/ material made	made from Cane tubes		
	Size	size #2 1/2		
	Valve Oil for	r Brass Pistol or Rotor instrument		
36	Use for	(Trumpet, Baritone, Tuba)		
	packaging	2fl oz (59ml) to 80ml		
	Rotor oil for	French		
37	Use for	French Horn		
	packaging	59ml to 80ml		
	stand	d adjustable Foldable Floor cymbal triangle-bracket		
38	Feature/ material made	Foldable		
NO		nd Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot)	1	Page 7 of 14

	Trombone S	Slide Lubricant			
39	Use for	Lubricant for trombone instrument			
	packaging	30ml to 50ml			
	-	Flute Stand made from stainless steel or metal arm with			
	hard plastic				
40	Feature/				
	material made	stainless or metal			
	Adjustable A	Alto Saxophone Stand made from stainless or metal			
	_	n with hard plastic			
41	Feature/				
	material	stainless or metal			
	made				
		Trumpet Stand made from stainless steel or metal arm			
4.0	with hard p	lastic			
42	Feature/				
	material	stainless or metal			
	made				
	28-inch Coated Bass Drum Head skin, Aluminum metal frame ,2 ply mesh				
	Feature/				
43	material	Aluminum metal frame, 2ly mesh			
	made				
	Size	28-inch coated drum head skin			
	26-inch Coa	ted Bass Drum Head skin, Aluminum metal frame ,2			
	ply mesh				
	Feature/				
44	material	Aluminum metal frame, 2ly mesh			
	made			_	
	Size	26-inch coated drum head skin			
		ted snare Drum Head skin, Aluminum metal frame ,2			
	ply mesh				
45	Feature/ material	Aluminum metal frame, 2ly mesh			
45	made	Administratification, 217 mesii			
	Size	14-inch coated drum head skin			
	12 inch Cas	tod gnore Dwyn Hood skin. Alyminum metal fuerce 2			
	ply mesh	ted snare Drum Head skin, Aluminum metal frame ,2			
	Feature/				
46	material	Aluminum metal frame, 2ly mesh			
	made	· ·			
	Size	13-inch coated drum head skin			
	Piccolo Snar	re Drum size 14 x 3.5 inch. With Drum head 35.5 cm,			
4=	height 12cm	, width 37cm			
47	Size	14 x 3.5 inch, with drum head, height 12cm, width 37 cm			
		1			

	Snare Drum	stick, size 5A, made in maple, hickory wood			
48	Feature/ material made	Maple, Hickory wood			
	Size	5A			
	Adjustable T	Frumpet Stand foldable tripod holder detachable in 3			
	to 4 leg stand	d			
49	Feature	foldable, detachable 3 to 4 leg stand			
	Trumpet Maintenance Cleaning Care kit, Including mouthpiece				
50	brush, Valve	brush, Flexible snake brush and cleaning cloth			
30	Feature	Includes mouthpiece brush, valve brush, snake brush and cleaning cloth			
	Trombone M	Iaintenance Cleaning Care kit, Including mouthpiece			
	brush, Flexil	ble snake 80cm brush and cleaning cloth			
51	Feature/ material made	Includes mouthpiece brush, flexible snake 80cm and cleaning cloth			

FINANCIAL OFFER:

Please quote your $\underline{lowest/best\ offer}$ for the items below. Please do not leave blank items. Indicate "N/A" if the item is Not Applicable/Available.

	SUMMARY OF API	OFFERED QUOTATION				
Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot)		Qty / UOM	Approved Budget for the Contract	Supply and Delivery of Activity Therapy Section (ATS) Supplies CY 2025 (Sub-Lot)	Qty/ UOM	Total Offered Quotation
	UB-LOT 1: PHYSICAL REHABILITATION SUPPLIES AND UIPMENT (Item No. 1-9)					
1	Bosu: heavy duty; professional and commercial use quality; blue; 65 cm diameter; textured dome with notches and quadrants; non-skid base; 1 yr warranty; branded;	5 / pcs	Unit Price: ₱ 5,500.00 Total Price: ₱ 27,500.00			
2	Exercise band: at least 0,25" thick; min. 105 cm loop length; varying resistance from 3kg-36kg; various width of 7mm, 13mm, 21mm, 32mm, 45mm, 64mm; yellow, red, black, violet, green, and blue color	3 / sets	Unit Price: ₱ 550.00 Total Price: ₱ 1,650.00			

3	ES/TENS: 220V AC, 50Hz; 1 pulse/sec variable; with Faradic, surge Faradic, Galvanic, and Intermittent Galvanic mode; pulse duration 0.1- 1000 msec; variable surge time 1-10secs; rest time 1- 10sec variable; compact; branded	10 / sets	Unit Price: ₱ 3,850.00 Total Price: ₱ 38,500.00		
4	Electrodes, aluminum pads, w/ 1 meter wire, heavy duty jack	50 / pcs	Unit Price: ₱ 132.00 Total Price: ₱ 6,600.00		
5	Hex dumbbell set with rack: 1kg, 2kg, and 3kg fixed weight per set; neoprene coated; 3-tier heavy duty rack; made of hard plastic or steel; nonslip base	3 / sets	Unit Price: ₱ 1,870.00 Total Price: ₱ 5,610.00		
6	Hydrocollator Pack: Cervical size, 60 cm length; silica gel or bentonite clay filling; White	12 / pcs	Unit Price: ₱ 1,650.00 Total Price: ₱ 19,800.00		
7	Hydrocollator Pack: Half- size, 5"x12"; silica gel or bentonite clay filling; White	5 / pcs	Unit Price: ₱ 880.00 Total Price: ₱ 4,400.00		
8	Step-up platform and Riser: 65-70cm length; 25- 30cm width; adjustable height 10-14 cm; heavy duty; black and silver color	2 / sets	Unit Price: ₱ 1,100.00 Total Price: ₱ 2,200.00		
9	Rubber puzzle mat, 100cm x 100cm x 1"; heavy duty; dual color (pink & blue); interlocking	20 / pcs	Unit Price: ₱ 1,100.00 Total Price: ₱ 22,000.00		
	SU	BTOTAL	₱ 128,260.00		
	SUB-LOT 2: RECREATIONAL, SPORTS, AND WELLNESS SUPPLIES (Item No. 10-22)				
10	Jumping rope, PVC rope, Length: 287cm	35 / pcs	Unit Price: ₱ 275.00 Total Price: ₱ 9,625.00		
11	Twister, approx 24.5cm diameter, any color	7 / pcs	Unit Price: ₱ 528.00 Total Price: ₱ 3,696.00		
12	Yoga mat, 6ft x 2 ft, any color	50 / pcs	Unit Price: ₱ 396.00 Total Price: ₱ 19,800.00		
13	Jigsaw Puzzles 120pcs, any design	7 / sets	Unit Price: ₱ 275.00 Total Price: ₱ 1,925.00		

14	Jigsaw Puzzles 260pcs, any design	7 / sets	Unit Price: ₱ 385.00 Total Price: ₱ 2,695.00		
15	Jigsaw Puzzles 500pcs, any design	7 / sets	Unit Price: ₱ 550.00 Total Price: ₱ 3,850.00		
16	Jigsaw Puzzles 1000pcs, any design	7 / sets	Unit Price: ₱ 770.00 Total Price: ₱ 5,390.00		
17	Basketball and Volleyball Ball storage rack, mobile frame, stainless steel, 112cm x 140cm x 35cm, with wheels.	2 / pcs	Unit Price: ₱ 6,380.00 Total Price: ₱ 12,760.00		
18	Jigsaw puzzle (dementia puzzles for elderly) dimensions: 26cmx21cmx4cm, material-cardboard, #of puzzle pieces 100 each piece is approximately 3.5"in width, puzzle size when complete37.5cm x 30 cm	5 / sets	Unit Price: ₱ 275.00 Total Price: ₱ 1,375.00		
19	Working Board (Busy Board for Alzheimer's Patients) 6 gadgets chain lock, sasa latch, light switch, barrel bolt; board color white	2 / sets	Unit Price: ₱ 2,750.00 Total Price: ₱ 5,500.00		
20	Coloring book for Seniors/ Sets of 4 Books (color by numbers, flower coloring, animals, flowers, food, objects) Paper bound, page size 8"x11", 40 pages/book	5 / sets	Unit Price: ₱ 1,375.00 Total Price: ₱ 6,875.00		
21	Senior Cricket set 30 in (76cm) cricket stumps 33in.(84cm) cricket bat, incrediballs, carry bags	2 / sets	Unit Price: ₱ 9,350.00 Total Price: ₱ 18,700.00		
22	Croquet Set; 36' Original mallets filled with black cushion grips fitted, 3lbs*368; Pro 16 natch balls, weight 1lb, 3 5/8 diameter.	2 / sets	Unit Price: ₱ 8,578.90 Total Price: ₱ 17,157.80		
		IBTOTAL	₱ 109,348.80		
	SUB-LOT 3: OCCUPATIONAL THERAPY FOR MENTAL RETARDATION SUPPLIES (Item No. 23-29)				
23	Therapy brush (Therapressure Wilbarger Therapy Sensory brush), Any assorted colors	30 / pc	Unit Price: ₱ 462.00 Total Price: ₱ 13,860.00		

24	Wooden rainbow clip beads toy (7 colors: Red, Orange, Yellow, Green, Blue, Indigo, Violet) 9x9x2 inches	2 / set	Unit Price: ₱ 550.00 Total Price: ₱ 1,100.00		
25	Wooden pattern blocks jigsaw puzzle tangram (geometric shapes) 155 pcs/set with 24 pcs cards,9.6"x 8.4"	10 / set	Unit Price: ₱ 548.90 Total Price: ₱ 5,489.00		
26	Pop tubes (Fidget tube pipes) 6 pcs/per box, Any assorted colors, 1.2'x7.7'- 25.5'	24 / box	Unit Price: ₱ 185.90 Total Price: ₱ 4,461.60		
27	Push Pop it Bubble Fidget toy, Any assorted colors, Circular shape, 65g, 4.7'x4.7'	12 / pc	Unit Price: ₱ 110.00 Total Price: ₱ 1,320.00		
28	Kinetic Sand Playset: Over 10 tools and molds, 4.5 pounds kinetic sand, 1 dome surprise mold, 2 cube stampers, 5 tools, 1 clear knife, 1 squisher, 1 squisher plate, 1 transformable sand box, 1 backdrop, 1 instruction sheet, 3 in x 12 in x 11 in	1 / set	Unit Price: ₱ 1,978.90 Total Price: ₱ 1,978.90		
29	Kitchen Playset: Foldable, Three Sections (counter, cooking, and sink area), 15 accessory pieces, 18cmX8cmX9cm	1 / set	Unit Price: ₱ 1,430.00 Total Price: ₱ 1,430.00		
SUBTOTAL			₱ 29,639.50		
	SUB-LOT 4: NCMH BAND SUPPLIES (Item No. 30-51)				
30	Clarinet Reeds, Bb Clarinet size #3, made from Cane tubes	4 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 13,200.00		
31	Clarinet Reeds, Bb Clarinet size #2 1/2, made from Cane tubes	8 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 26,400.00		
32	Clarinet Reeds, Bb Clarinet size #3 1/2, made from Cane tubes	2 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 6,600.00		

33	Alto Saxophone Reeds, Eb Alto Sax size #2 1/2, made from Cane tubes	5 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 16,500.00		
34	Soprano Saxophone Reeds, Bb soprano sax size #2 1/2, made from Cane tubes a raw materials form making reeds	2 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 6,600.00		
35	Tenor Saxophone Reeds, size #2 1/2, made from Cane tubes a raw materials form making reeds	4 / box	Unit Price: ₱ 3,300.00 Total Price: ₱ 13,200.00		
36	Valve Oil for Brass Pistol or Rotor instrument ,2fl oz (59ml) to 80ml (Trumpet, Baritone, Tuba)	50 / pcs	Unit Price: ₱ 605.00 Total Price: ₱ 30,250.00		
37	Rotor oil for French Horn instrument net 59ml to 80ml	8 / pcs	Unit Price: ₱ 605.00 Total Price: ₱ 4,840.00		
38	Cymbal stand adjustable Foldable Floor cymbal triangle-bracket stand	1 / pc	Unit Price: ₱ 2,750.00 Total Price: ₱ 2,750.00		
39	Trombone Slide Lubricant for trombone instruments net 30ml to 50ml	12 / pcs	Unit Price: ₱ 660.00 Total Price: ₱ 7,920.00		
40	Adjustable Flute Stand made form stainless steel or metal arm with hard plastic	2 / pcs	Unit Price: ₱ 1,650.00 Total Price: ₱ 3,300.00		
41	Adjustable Alto Saxophone Stand made form stainless or metal steel arm with hard plastic	2 / pcs	Unit Price: ₱ 2,200.00 Total Price: ₱ 4,400.00		
42	Adjustable Trumpet Stand made form stainless steel or metal arm with hard plastic	2 / pcs	Unit Price: ₱ 1,650.00 Total Price: ₱ 3,300.00		
43	28-inch Coated Bass Drum Head skin, Aluminum metal frame, 2 ply	2 / pcs	Unit Price: ₱ 3,850.00 Total Price: ₱ 7,700.00		
44	26-inch Coated Bass Drum Head skin, Aluminum metal frame, 2 ply mesh	2 / pcs	Unit Price: ₱ 3,300.00 Total Price: ₱ 6,600.00		
45	14-inch Coated snare Drum Head skin, Aluminum metal frame, 2 ply mesh	3 / pcs	Unit Price: ₱ 1,100.00 Total Price: ₱ 3,300.00		
46	13-inch Coated snare Drum Head skin,	2 / pcs	Unit Price: ₱ 1,100.00 Total Price:		

			1	•	,			
	Aluminum metal frame, 2 ply mesh		₱ 2,200.00					
47	Piccolo Snare Drum size 14 x 3.5 inch. With Drum head 35.5 cm, height 12cm, width 37cm	1 / pcs	Unit Price: ₱ 9,900.00 Total Price: ₱ 9,900.00					
48	Snare Drum stick, size 5A, made in maple, hickory wood	4 / pair	Unit Price: ₱ 1,100.00 Total Price: ₱ 4,400.00					
49	Adjustable Trumpet Stand foldable tripod holder detachable in 3 to 4 leg stand	2 / pcs	Unit Price: ₱ 1,100.00 Total Price: ₱ 2,200.00					
50	Trumpet Maintenance Cleaning Care kit, Including mouthpiece brush, Valve brush, Flexible snake brush and cleaning cloth	10 / box	Unit Price: ₱ 440.00 Total Price: ₱ 4,400.00					
51	Trombone Maintenance Cleaning Care kit, Including mouthpiece brush, Flexible snake 80cm brush and cleaning cloth	6 / box	Unit Price: ₱ 660.00 Total Price: ₱ 3,960.00					
	SU	BTOTAL	₱ 183,920.00					
TOTAL AMOUNT:			Four Hundred Fifty-One Thousand One Hundred Sixty- Eight Pesos and 30/100 only		TOTAL AMOUNT:			
			(<u>₹451,168.30)</u>					
			Brand and model: Delivery period: Warranty: Min of 3 mont Min of 1 year Price validity: Payment terms: Min of 30 Cal		hs (supplies) (equipment) endar Days			
SUBMITTED AND CONFORMED BY:								
PRINTED NAME AND SIGNATURE OF REPRESENTATIVE								
POSITION/DESIGNATION								
	CONTACT NUMBER/S							

EMAIL ADDRESS